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sdlejenrset : (1)  Si@asgl cQamésmELd FMLTE Si&aL ufleurd) o GreTgT 6TEILIGEN &
sfluriggé QamerarayLd. sFslILgeler GmpulmLidear Dmns
samsTaiurerfLb o Langwrs Qsfeilssayb.
2 Beod ieeg SHmHLY @Luleer TPHUSHGLD g sCETIHAUSHGD
Lwetudss Ceuar(n. ULBISET UMTUSD G Quemdle
LweTL (HSSeyLD.
Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

@Oy : Qeelamsser BremE LGHsmand Clamem g

Note : This question paper contains four parts.

| L@ - 1/ PART -1

@y : () Sewensgl elamssEnsEn ellamLwaflésal. 12x1=12
(i) Qar@ssuulL premE edaLsafe Wlaab ghymw elleLulamen
CombshsE GMULHLar elenLulemanyd Gardgl 6T(pseLb.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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QIS ardLiImnes Aper @opum’ g ofl Qe » Ho|olg) :

(<) @el Gevehns: (<)) @ Clevara
(@) @ piy. (7) Qo Geilu Qans
The eye defect “Presbyopia’ can be corrected by :

(@) Convex lens (b) Concave lens
(¢) Convex mirror (d) Bifocal lenses
UGS Gy eraranfian oL /Gomep,
(<) 6.023x10-23 (<) 6.024 x 1024
(@) 6.023 x 1023 () 6.024x10-24
The value of Avogadro number is /mol.

() 6.023x10-23 | (b)  6.024x10%
(©) 6.023x10% | (d) 6.024x10-2

BIDD SMIEME) SLIITATD STas :

(<=1) Bfled senrdsiiur L o (i

(<) Bfled sevrssiLLL @EpsCaren

(@) Bfled senrésiiul L sriur soGul

(FF) STLGT-6nL_-FOELIG &) SMTFSLILILL FoOUIT
Identify the non-aqueous solution.

(@) Sodium chloride in water

(b) Glucose in water

(c) Copper sulphate in water
(d) Sulphur in carbon disulphide

5 O flengenL Qsranr Wen GCLHN g W s an QaarssliLBEng).
6 A flenGenm_L_womeng) Qbs @&CLOHB euflwirs unulmg) eraflad 5 HLilL_rkisefe
2 (HUTGLD CleuliLgHlen ety :

(<21) 48000 ] (<p) 54000 J (@) 45000 J (FF) 84000

An electric heater of resistance 5 () is connected to an electric source. If a current of
6 A flows through the heater, find the amount of heat produced in 5 minutes.

(a) 48000 ] (b) 54000 ] (c) 45000 ] (d) 84000
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CHOH 430, 5 200, 1 31,0 e gl
(<) THHMNED g(NhSID

(<2p) THSMND 6 Nge

(@) erdsamuis ufed &S gpGennppLd
() aHsGae oy &HmGanppid

C,H:OH +30, - 2C0, +3H,0 is :

(@)  Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid
(d) Oxidation of ethanal

sTHHlOOT seUTFSS6 ppeold o (HeuTeug) :

(=) srrGurenamt Gl (<) TEHD Yevsanme
(@) e e Cam.er (/) eumGeul-

Which is formed during anaerobic respiration ?

(@) Carbohydrate (b)  Ethyl Alcohol

(c) Acetyl CoA (d) Pyruvate

“peian 2 L HOFLLar sHhens”’ eTan SiempdsliLpLeu :

(1) adlev-egr MG (<)) eflevedlwd ammie
(@) amred Cavim_evie ait () erieuml C. Q&emrLed
Who is regarded as the “Father of Modern Physiology” ?

(a) His-Atrio (b) William Harvey

(c) Karl Landsteiner (d) Edward C. Kendal

Gremeliir sgmisser sramiL@L GLLb

(1) sengser (=) S EFTESHET
(@) QLewrlenyl(Haer (rF) engLlLme
Node of Ranvier is found in

(a) muscles (b) axons

(c)  dendrites (d) cyton
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9.

10.

11.

() < &Hen
(Q) Nureasar

is found abundantly in liquid endospe

Auxin
Gibberellins

@)
(©)

DNA-e@&u Qeul L1 uwetu@®eus)
(=) s55M&Csmed

(&) =58

We can cut the DNA with the help of :
(@) Scissors

() Knife

QuTHSSIS.
1) umelellenared @GCerrany(H

GCaL_Blwib

(2)

FFLLILD

(3)
(4)
(1) ()-0), (2)-(ii), (3)-(iv), (4)-(i)
(&) @)-(), 2)-), B)-(iv), (4)-0)
Match the following :

1)
(2) Cadmium

(3) Lead

4) Chromium

a)  (1)-(i), @)-(iii), (3)-(iv), (4)-()
()  (1)-(i), (2-Gii), (3)-(v) (4)-6)

G&Crmolwid

Polyvinyl chloride

N

4

, Ggmiamuden @embied qal(ei',]a;mnasei; sirenriL(hHmg).
(<) aal_GLirengafl e

() ergfledlen

rm of coconut.
(b) Cytokinin

(d) Ethylene

(<) QravL_fever GBS

(FF) 1q.6T6o.eF. G

(b) Restriction enzymes

(d) DNA ligases

() @phmssatier ppenar cueTT&Slanwl
urdlsdmg|

QlaniQLES e _eddlen
auargflenwis LTHEE DS
APEFSS MMDED 2, 6VGILOM
Brbysemer Lrdsslemng)

&
)
(<) (O-6), -0, B)-(), (4-Gv)
(%) (-, @H6v), @)-6), (i

(i) Affects brain development in children
(i)
(i)
(iv)
(b)
(d)

Affects the growth of reproductive system
Asthmatic bronchitis

Neural damage

(1)-(), (2)-), @)-(it), (4)-(iv)
)

()-(id), @)-(v), 3)-(), (4)-(ii)



12.

sflwren @evenrenid e -

(=) &CrrQaem Mg

(=) sL-CQuiLrQser Mg

(@) QulLrQsearn Mé

() eCareer &

Find the correct pair.

(@) Acrocentric

(b) Submetacentric

(c) Metacentric

(d) Telocentric

5 3569 (NS)

Qaar_Crmudwir GCrrGurGamdean

aWsHHG SmAd sramiLGHpg.
rarGey  @uam® &wHm
o (Heurdlemman

&7 Bl & 6T

Qear_Crrlwr GCrmrGurCams e QR
wparande sramiiL@Spg

Qeear_Grmuslwir GCrrCurGemd e
WSSO Aemobg Qram() gwberaperer

SIBEMET 2 (HeUTEHE-Fmg)

Qaar_Grrslwi GCrrGwrCamden qm
PPETES Si(HElD Sramtii-LHeusred, 6
GLeLWrar Srupb @@ B srepd
QU meTemen

The centromere is found near the centre of the
chromosome with two unequal arms.

The centromere is found on the proximal end.

The centromere occurs in the centre of the
chromosome and forms two equal arms.

The centromere is found at one end with a short
arm and a long arm.
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LSl - 11/ PART - II

GmiLy : steneuCuign b 7 aflanndsende ollenwelldsa b, eflemr erar 22 -&@ 7x2=14
SLL_muwrs eflenL_wef&seyLb.
Answer any seven questions. Question No. 22 is compulsory.

UDSSSThISET Lp Sy GHLY euenys.
Write short notes on gears.

Note :
13.

14.  Lmlery Qﬂmmm BenLQum Wiwrg @Qrar( GLROsmars M.
Mention two cases in which there is no Doppler effect in sound.

15. o awenwd Qeuliy ailfley @emraid auTUNIESe . G Sigar <odaer
T (&I
Define co-efficient of real expansion and mention its unit.

16.  ydsanTOsmeTs Ser b Cargenamlen eflanameniis smms.
Write a reaction which is used for the identification of alcohol.

17.  Blyrrersefen epemm euams el (P8 SAemeu sraRTlILIRID QL snss
S5
Name the three types of neurons and find its location.

18.

QarBésiul_Herar LLggléd A, B, C, D @l unsiisaer S|eML_ITeETLD
SITETELD.

Identify the parts A, B, C and D in the given figure.
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19, Yoy e ulitigeitisallen srageng areianmm iblig Clarerer Guig)in ?

How can you determine the age of fossils ?

20. DNA aflped Grensg Qamfled mir LgHan pepL(penn LWEUThamer 6rips)s.

State the applications of DNA fingerprinting technique.

21, odlyTEs S HmsHula Guen (STAGE) erarugl Lpdl my @Hloy erpsis.

What is “Stage” in Scratch editor ?

22. @m Qurmelalmbs Qedab @efsapamnwrarg 0.3 5. Gelug Qgraaey
Garanr_ allfl&@n Qeengrd Geldsinl @ 0.2 5. eram Ggrereeiler GbLISMS
ghuBsgIdng erafld Qummailar Qgraramels samss(Hs.

A beam of light passing through a diverging lens of focal length 0.3 m appears to be
focused at a distance 0.2 m behind the lens. Find the position of the object.

L@ - 111/ PART - III

GOILY : eTemeuCuenid 7 elamésenée el waflssab. eleanr erewr 32 -&@ 7x4=28
SL_L_muwns edlenLwefl&se .

Note : Answer any seven questions. Question No. 32 is compulsory.

23. Q&L geysme eNeTsEs.

Describe rocket propulsion.

24. ereflw paECammrédulien LweTLTHEE Wremey ?

What are the uses of Simple microscope ?

[Q@L’_Iuas / Turn over
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25

26.

27.

28.

29.

30.

(<) BQuIned) yeevsar GTEIIITED Grene ?
(<) THQrmedu i WHSSIQ LILISTSMETS FnfDis.
(@) What do you understand by the term “Ultrasonic waves’ ?

(®)  What are the medical applications of echo ?

2 Goors <ifloraigamss SHEGD (PEDEET Wrenel ?

What are the methods of preventing Corrosion ?

Gy whmib 141 FfCmem e Caumu®sgis.

Differentiate soaps and detergents.

Coumun® sms - “@@m dsHmas sraur Gaulr LHHIL G elsdenas

smeur Geurr.”

Differentiate between Monocot root and Dicot root,

wefls Qsusder Qeualliyn enblienL LIL LD QUMIHE LITEBISGET GH&EEeL.

Draw the external structure of human heart and label the parts.

QULLITT @em greurelliie) Cralgeman elamyLnSE| isa W&EWSgeuSmS
T(LPSI5.

Define Ethnobotany and write its importance.



31.
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et Nddavs apenp 1 D e e,

Bxplain about Gene Therapy.

(<

) 100 &. Hifled 25 &), sirsserarLs sIHE @O sorse swrfésiu@Eng.

A$T SOTGlurmelen Hlenp sseissmss HraNs.

(<) sflwr ? seupr ? (seum erafler sapPevens Hmsis)

@) eIl aumpele prd LweTLHESEsIGW Hrey HHSISET, QM-
sWe|d Sreuiuser, yeors sHLuUTanser, Smllprélaiser Gumerm
sarssaile o arer serOUTHailan DjeTe s w/w TaD LSSSTL
GOILALLLEEDs.

@) seflbyser, sBeobsflsda, Cesruysdar Curatpeuphe o drer
seygosefien Qedleyser v/v eranm @GHUALLLGHEDS.

A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate

the mass percentage of solute.
True or false (If false give the correct statement).

(i) In our daily life, solution of syrups, mouth wash, antiseptic solution,
household disinfectants etc., the concentration of ingredients of solution is

expressed as w/w.

(i) InOinments, antacids, soaps etc., the concentration of solution is expressed

asv/v.

[ ®Uys / Turn over
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L@ - IV /PART - IV

GOy : S| M EHG) s Ens@n ela weldse b, Comeuwren G)Lrisafld
UL quenys. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.
33. (=) eipsefied LweaTURSSLILGL WensEHen edlerése,ib.
SI6V6VF)
(%) eoum, S, gror sfisafar Lamsmer @UII@S.
(@) Explain about domestic electric circuits.

OR

(b) Compare the properties of alpha, beta and gamma radiations.

34. (1) @) pelar oemsOasTaransulen Carl Lim(seman T(DSIS.
M) SAeusT Grr edfludlen LweTLrGse Csaybd @ream® snmis.
SV6Vg)|

(%)‘(i) @heop @QLUuwTES damaowu sEHS TO&s56ETLH L6
allens s,

@ Qrier @LOCUWIESH Aoalea  eumssamer 5GhS
T(HEHESTL(HL6m adlaTdEs.

(@) (i) Give the salient features of “Modern atomic theory”.
(i) ~ Write any two applications of “Avogadro’s Law”.
OR
(b) (i) Explain single displacement reaction with examples,

(i) Explain the types of double displacement reactions with examples,



@
(i)

@
(i)

1 3569 (NS)

(PUIGOIGDY i1 1 @prudled @GO\ BEDL| GLGNGTILIGIFHGT smemr i (heug)
aren ?

Ay ureng Gpmigagrpm (UTI) -er afleneraisamans snmis.
S0V
lg.erem.er-eflen e uNflwd wpsdluggieud wrg ?
Qsw Cpmuser FhuBeuamsd 5HES Guh@smerend (pantleamssflsams
BLolyEnssmars snps.
SoUpTen LiweLimL (5@ 2-arerme GLHOSS@ETL LITGISTLILSHSTET
AMGPdD&6T FCHEID 2 LS.
Why are the rings of cartilage found in trachea of rabbit ?
Write a note on UTL
OR

What is the biological significance of DNA ?
What precautions can be taken for preventing heart diseases ?

Mention any two approaches for protection of an Abused child.

) -00o0-
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